
応用数学 II 解答

1. (1) yy′ = −x より両辺を x について積分する。∫
yy′ dx =

∫
y dy =

y2

2
= −

∫
x dx = −x2

2
+ C

x2 + y2 = 2C (Cは積分定数である)

(2) y = xv とすれば y′ = v + xv′. xy′ = xv + x2v′ = x + xv より x ̸= 0 のと

き xv′ = 1、すなわち v′ =
1

x
. v = log x + C =

y

x
. y = x(log x + C).

2. 解 u(x, t) は

u(x, t) =
1

2
√

πt

∫ ∞

−∞
f(v) exp

{
−(x − v)2

4t

}
dv と表示される。

(1) s = −x − v

2
√

t
とすれば

u(x, t) =
1

2
√

πt

∫ ∞

−∞
exp

{
−(x − v)2

4t

}
dv =

1√
πt

∫ ∞

0
exp

{
−(x − v)2

4t

}
dv

=
1√
πt

∫ ∞

0
e−s2 dv

ds
ds =

2√
π

∫ ∞

0
e−s2

ds =
2√
π

√
π

2
= 1.

(2) s =
v + 2t − |x|

2
√

t
とする。

u(x, t) =
1

2
√

πt

∫ ∞

−∞
exp

{
−|v| − (x − v)2

4t

}
dv

=
1√
πt

∫ ∞

0
exp

{
−4tv − x2 + 2xv − v2

4t

}
dv

=
1√
πt

et−|x|
∫ ∞

0
exp

{
−(v + 2t − |x|)2

4t

}
dv

=
1√
πt

et−|x| 2
√

t
∫ ∞

0
e−s2

ds = et−|x|.
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